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	MSS Böblingen
	Grundlagen der Mathematik

- Lineare Gleichungen -
	- G4 -


Einstiegsaufgaben:
Bestimmen Sie die Lösungsmenge in G = IR.

a) 3[10 – 2(x – 1)] = 9(x – 2) – 6(x – 3)

b) 4 – 5(x – 3) = 5 – x - 2(2x - 3)

c) 2(8x – 7) + 4 = 10x + 2(3x – 5)

Übungsaufgaben: 
Bestimmen Sie die Lösungsmenge in G = IR.

	1) 3x + 7 = 22 
	2) 5 – 4x = 5
	3) 
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	4) 16 – (2x + 8) = 3x + 4
	5) 2(x – 1) - 3 = 2x - 5
	6) 3 – 2(3 - x) = 2( x – 2)

	7) 10x - (4 - 3x) = 5x -(6 - 2x) + 26
	8) 
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	9) (4x – 5) - 6 = 12x – (x + 4) – (3x + 7)
	10) 
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Zum Umklappen:

Lösungen:

	1) L = {5}
	2) L = {0}
	3) L = {-15}
	4) L = {
[image: image5.wmf]5

4

}

	5) L = |R
	6) L = 
	7) L = {4}
	8) L = |R

	9) 2) L = {0}
	10) L = {
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Merke:


Eindeutige Lösung:














Keine Lösung:














Viele Lösungen:
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